CHAPTER 17 PROBE QUESTIONS:
-P.286
 

1. -What kind of responding would you expect to see with a FR100 schedule of intermittent reinforcement?

· Easy to see consistent pattern of responding (high rate of responding until the reinforcer is delivered followed by a pause before responding starts again)

2. -What is the name of this pause? 
· POSTREINFORCEMENET PAUSE
3. -With regard to the post reinforcement pause what would the length of pause on an FR100 be compared to an FR 10?
· Length of the pause is proportional to the size of the ratio: RATIO LARGE=PAUSE LONG, ETC.

· However, FR schedule does not require that they pause
4. -What schedule of reinforcement is best to use for shaping behavior?  
· CONTINUOUS 
· It’s always what we use with our rat in the skinner box
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5. -Is counting a requirement of a FR schedule? 
· NO

· Think of the rats in the skinner box, do they ever stop to figure out (count) to see how many more response they have before they will be reinforced.
6. -When establishing a high ratio for reinforcement do we immediately jump to the desired ratio (i.e. FR100)? Why?

· No

· To establish a high ratio requirement: GRADUALLY RAISE THE RATIO up to higher ratios only after number of reinforcers been delivered at each ratio value.  OTHERWISE RESPONDING WILL EXTINGUISH (general rule: start with CR)



· Extinction due to this error is know as?  STRAINING THE RATIO
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7. -What is the generic term that encompasses Fixed and variable ratios of schedules and soon to be covered FI and VI schedules?

· -Intermittent reinforcement 
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8. -Can someone give an example from everyday life of Free Operant and discrete trial?
· If they are slow to respond ask them to give some from the slide show, and from there move into original examples. Make sure that the examples fit the criteria listed below, and tell the class the criteria so they can help correct or provide feedback to each other. (Also allow them to show and  talk about their original examples from their h/w)

· Free-operant: most common in Skinner box, animal free to respond at various frequencies

· Subject can make more than one correct response before the reinforcer

· May not be an SD

· Responses can be reinforced either continuously or intermittently

· There is no S-delta after each response; so there’s no inter-trial interval between each response and the next SD

· -Discrete-trial: when a single response occurs, the SD ends and the subject immediately receives a reinforcer or goes into S-delta

· There is an SD

· A single response

· An outcome followed by an S-delta (inter-trial interval)

· Then the next trial starts

· Can’t measure rate of pressing, can measure latency of presses
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9. -Can some one give me an example of Hybrid, discrete-trial/free-operant? If this is a problem ask for an example from the book or slide show.
· Hybrid, discrete-trial/free-operant:  each free-operant response, itself, consists of a discrete trial

· DT: each piece put in the puzzle is an SD for the next response

· FO: b/c free to place each puzzle piece as fast as he “wants” and measure of behavior would be rate

· Table Examples

· Some examples would be putting a puzzle together, drawing a picture of a cartoon character but getting up and looking at a TV between each part of the drawing to see where to put the next line or color, another one would be writing a word, each letter in the word, stacking blocks to spell a word, completing a large math problem where one step needs to be done to go on to the next.
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